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V = [1, 4, 5, 3, 6, 2, 1] S
Z = [V3 � V4] T [V4 � V5] T

[V2 � V3] T [V5 � V2].

P = 38, 71, 93, 84 S
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V = [1, 2, 3, 4, 5, 6, 1] S
Z = [V3 � V4] T [V4 � V5] T

[V2 � V3] T [V5 � V2].

P = 69, 70, 95, 58 S
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V = [1, 4, 5, 6, 3, 2, 1] S
Z = [V3 � V4] T [V4 � V5] T

[V2 � V3] T [V5 � V6].

P = 53, 93, 88, 90 S
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V = [1, 4, 2, 5, 6, 3, 1] S
Z = [V4 � V6] T [V5 � V6] T

[V3 � V4] T [V6 � V2].

P = 88, 63, 36, 73 S
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V = [1, 4, 5, 3, 6, 2, 1] S
Z = [V3 � V5] T [V4 � V5] T

[V5 � V6] T [V6 � V2].

P = 71, 31, 26, 22 S
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V = [1, 5, 4, 3, 6, 2, 1] S
Z = [V3 � V5] T [V4 � V5] T

[V5 � V6] T [V2 � V3].

P = 88, 91, 37, 90 S
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V = [1, 3, 4, 5, 2, 6, 1] S
Z = [V4 � V5] T [V3 � V5] T

[V5 � V2] T [V6 � V2].

P = 49, 36, 26, 39 S
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V = [1, 3, 4, 5, 2, 6, 1] S
Z = [V5 � V2] T [V4 � V5] T

[V2 � V3] T [V3 � V4].

P = 56, 54, 40, 42 S
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V = [1, 5, 4, 6, 3, 2, 1] S
Z = [V2 � V3] T [V3 � V5] T

[V4 � V6] T [V5 � V6].

P = 33, 31, 29, 36 S
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V = [1, 4, 5, 6, 2, 3, 1] S
Z = [V4 � V5] T [V5 � V6] T

[V3 � V5] T [V6 � V2].

P = 46, 28, 87, 17 S
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V = [1, 3, 4, 5, 6, 2, 1] S
Z = [V4 � V5] T [V5 � V2] T

[V6 � V2] T [V2 � V4].

P = 74, 91, 60, 78 S
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V = [1, 4, 3, 2, 5, 6, 1] S
Z = [V3 � V5] T [V5 � V2] T

[V6 � V2] T [V4 � V5].

P = 68, 43, 75, 26 S
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V = [1, 2, 4, 5, 6, 3, 1] S
Z = [V3 � V4] T [V4 � V6] T

[V5 � V2] T [V6 � V2].

P = 65, 61, 76, 73 S
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V = [1, 4, 5, 3, 6, 2, 1] S
Z = [V3 � V4] T [V4 � V5] T

[V5 � V6] T [V2 � V3].

P = 85, 23, 76, 31 S
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V = [1, 4, 3, 5, 6, 2, 1] S
Z = [V3 � V5] T [V4 � V6] T

[V5 � V6] T [V6 � V2].

P = 59, 77, 42, 67 S


